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NS QIR JHeE 1,744,000 1,184,000 560,000
XN QAT NS (DL SEA) 1,744,000 1,184,000 560,000
gdistisdy XA 1,744,000 1,184,000 560,000
403 AXIEHHSAH=Z01d 1,744,000 1,184,000 560,000
01 MHXIHHA 22X 1,744,000 1,184,000 560,000
OFDIMEH BMstS JIUEY
450,000,000 450,000
Oz Bdsis A8
1,294,000,000& 1,294,000




H & 0l & AHS B Ml A

2025-01-03 13:50:47

d

& X

of
i’
oF
uJ

3888188
Oln|n|n|n (D
S B MM B BN
Klo
El
E=)
318138181818
Dol |6n|n|(n
NININSNININI S
= | 2|22 |2 ]2
Wi3r
uiied
RIS
8888|188 S
Slala|alale S
Wﬁ
<
=
%
S
S
. o
Y _ ™ g
. = 3
X0 0
IF ur | = MM
= | = | W0 o
. ﬁ_v.raﬂ._o o)
= = |Wiml (M =
m 1 L o N LT
= EO%MW_&W_E
0 LK l=]0 <
o | (Blaln|BE
| 32|25 &
AR e
@Exgm%_ﬂﬂ%
=loT|W|=|x|=
T |w|uv|h|n|8]|°
DF |ro|Kr|3r |k
s
o | KF
=




H & 0l & AHS B Ml A

2025-01-03 13:50:47

d

& X

od
i’
oF
uJ

[l Nol ol ol Noll N
N0
K0
E|
B
sl1sl8|18(8]8
S|ala|e|a|a
HEIEIEIEIE
LH3r
<
KIS
1818|888 S
Slala|ela|le &
HEEEIEIERE-
Wﬁ
<
=
il
g
Oir = g
X0 1of mw
gl ©
_m_q_ r
) K 20
< J.M__m Kd
W Fé m@
. ME reY
= g4} =
i wlm| (K5
- oo (|8 | R g
oF ﬂmﬂHoOAom
Ol 20 [ U0 | RO
i [ 2L == W
; Q180 |o R
KO ol [ R == 3ol
__oxxmu
: iR |g|s
X |=(w|=(m|=]|°
Dk |an|®o|A0 oy
< | %0 | ol
= (<
=




H & 0l & AHS B Ml A

2025-01-03 13:50:47

d

& X

C=N,

EINT= D)= PN

2A:

od
i’
o
uJ

—

mnfl
o}
Bl
i
KJ
ol
oK 70
R
0 oU
0 =

(818181818
Slslsls|s|s
- OO |lO|O|O|WO|©
EWAAAAAA
E
]
2181818818
Slslals|s|e
e EIEIEIEIEIE
uifed
RIS
S8181818[8 8
Ssl222(e =
3|3|3|2(3(2 3
&
<
S
o
g
or g
X0 5
Bl 2
3l =
< =
It o
= i
< ur
= KJ o)
= | Bl | |22
ol
i) _ | @ ®(H 8
o ®IH|g|s | &
o Sl =R
. K |3 [R|R
a | |or|e|w|3|3 D
R |Da| P o2 E S
o [ 2 | |30 [ [H
o ﬂ&_@ﬂ__x081o
X |a|E®al=]
L NI
ol 1 i
<R
ol




H & 0l & AHS B Ml A

2025-01-03 13:50:47

d

& X

of
i’
oF
uJ

—

mnﬂ
o]
il
uir
Kl
oll
B0
I
30 80
0H O

ok oK
%0 X0
2 K4 K4

KK
ol 0J Ul
6D &0 8D
pdiedied|
T R

IF RO

=

s18(8|1818(18
S|ole|a|a|e
D M ANN | ANAN | AN
E| N R R G R RY
E=)
8188181818
S|ale|a|a|e
s |E|EE[E|E|E
uﬂ._m.mx_ ESaN IRl IR IR RSl R
RS
s18(8|1818(18 S
OO O | OO |O O
i =l =l=l=|=l= =
<
S
ot
S
=1
or S
. m —
D
g ur
B3 - )
| <
- A Kd
= B0 KJ =
= 30 %.ﬂmﬁ
o solon|w| DL <
uJ 0H |:|_om“u._
; | |= (= 5
= oK AuCr._Dr._
_xﬁ Hox._ﬂﬂm
RO WK == -
: Kz [S a2
M= lE|gls ©
X |In|z|m|a|T
I |=|o|an|<
ol | & | <!
| <
<




H & 0l & AHS B Ml A

2025-01-03 13:50:47

d

& X

od
i’
oF
uJ

—

=
o
Bl
uir
Pl
ol
0
8]
KJ
KF

3D
EES
& ol ®J
&0 = o
&J B0 B0
ol R R

31818888 318 3188 8|8 318|8 8|8 318|8 81818
=l =l==22]S 2|2 STk SIS S|3|S S(3|S S|3|S S|3|S
i ANl | AN | N [eoJl sl Nap) Yol HYo N BYe} |\ = | = ()]
n (81882 8188 g8|18|8 AEIE 8|18|8 3|8 SIS
E4,4,4, 4l <)< << |~ N 4| < <
B
18818188 818 81818 8188 81818 ele|e 81818 281818
YR R A R el Rl S| ® STkt S|&|a STk SIEIES! STkt
Al | & [
I EIRRE SEE |EElE [2|E|E EIEREIELE
a2, NN — |~ | ANl ANl AN || — ||
LI Rl Bl e
RIS
18181888 S8 8 88|18 818188 881818 818188 881818 88188 (81818
clo|ololg|le S S ©|g|le glg|sa S|g|S|a Sls(g|e  Sgla|a golo|s|e o|o|e|=S
o NS oo o < |~~~ N~ s s [ N [aVl eV || O|l—|—=|— — | —=|=1]~
SAEETN N . 3|88 B|B|B|E B|R|R|X R|IR|B|R R|B|B|E &|&|&|&
<
S
W o W o o o o o o
8 S 38 8 S 8 8 8 8
S S 5 S S S S S .S
. 110y
o g 88 g g g g 0 i 8 |~
@ © < N~ N~ S o | | W= |
A 80 1l Jzou © _A/..,aoJ mmﬂ WWVMW,__%
. = R o N © | ol | o o
3D =5 5 N K w0 I 2 | 0 |8
=< il oW - S P < 0 |8 o |8 % @v_
ot ur = 2 K|Z . |a Kt ki | KOS
: 3l oo 08 = | s |w 0|5 N
— D — oy )| _ = K _ 0 K | = X0 _ ) X0 _ ) _
= o ) Rl = ol|®ly = R R IKRY o (KR TR
@ M | o 2l O O g e o s = 0 K= L By K= L PVl K= LB = S =l
= = |ir i e R T b e B T Bt = T B R R B TN B A e BT B AT A D TR By
oF _ﬂ_. R [ _ Rl g 0D = [R|H sl =|R [N Uy alm = [n oy m__% = = 0| = [
u e e I O 10 0 RSO <3 T = T B R = I L R R I = I
= =< [®)|O0H | Ur ) p ol o) = oJ|o) < m o) (o) 0H o) o) = 0)| 0] - 0J | o)
e gla|z|op & 8 Dm|z o O(Miglg Y |Pglg W Wik 2 (BMeglg 2 [2k|lrE |9x|x
U e R A =S =Sl = L= LR = 1= TR L = 1= R K = = B K = =g el i = = T R = =
° ﬂ_.wjuaoﬂ‘I,IQ @) Ola|= O %31@ M31O ___._031@ Ao31O GISAIO\):._QO‘I
X mo|mo|m|er |S|° | (T I(9(° 2(F(° 2(F|° (9|7 o|F|°
I =R A0 H fo ro s %0
| 3[R
w0 | =
8]




od
i’
o
uJ

—

=
o}
Bl
uir
Pl
ol
0
8]
KJ
KF

3D
EES
& ol ®J
&0 = o
% 0 w0
ol R R

s|a|s
Al T
Klo
E
E=)
2188 2818181818
sS|3|3S s|lsis|ala
T %%% B|18|8|8|3
RIS
818818 8181818188 8
slals|e 23S |ele|e S
1BIB|B |8|I8|3|3(8 3
= B P PN PO
<
=
i i o
S 8 8
= IS S
or (%8| 58 g
v (8= N 3
2y E___EQ.V__% Mmmm
M R Ry B
2 |w |8 v
< w0 | .
k |z |2 Al
X |z |w ns =
. o T or m
= | |wlm| & |[=|@
ﬂ% Elolw o =]
8= |wnls o |@W
F oo |[T|R(E o | _
YA T 1 O O R e
. o= | = Slwl | _|E =
e L1 S v vl R SR L I S|z D
wl [z |lk 0= W= WS |5 D
o) [mp [ R 511 e
RO o0 |RO |z (/s o | R OO |00\ =5y =
c O wlgls O |w|® 5|55 ©
< o0 | Hiz|lz|®
I+ ) o|D|=
S|3
=




H & 0l & AHS B Ml A

20258 204 ZEEYM SEEIAH MM 2025-01-03 13:50:47

A SAESE AN
2 A=A S

Eelr AIBISX AHIA S (DY SE3H)
2 s IE]

S - BE - B9I(3H) - NRAY - BES il v e
SNE=Z 3t 300,000 300,000 0
AsIZX SEXA 300,000 300,000 0
AZIS X MHIA SHAH D EHYA SE3(IH) 300,000 300,000 0
sg=ssdH 5 300,000 300,000 0
403 XX SHHMSA=01H 300,000 300,000 0
01 X SHHAZE X 300,000 300,000 0

O =X ¢ sgssdH =

300,000,000 300,000
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Sl A PADIZR R (RELE SH5|H) (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Eot= At 6,615,000 300,000 6,315,000
=t oHe 6,615,000 300,000 6,315,000

A A IS 2 (LN SE3IAH) 6,615,000 300,000 6,315,000
HAH RADIS& =4 6,615,000 300,000 6,315,000

403 AXIEHHSAH=Z01d 6,615,000 300,000 6,315,000
01 XM= 22X 6,615,000 300,000 6,315,000
OAMIA #AJI153 &4
6.,615,000,000& 6,615,000
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FA 2ZAEN
Hu: PRMIRE
Cel 2RO (oged SE3H) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
S 13,262,500 9,062,000 4,200,500
2 MAAS 13,262,500 9,062,000 4,200,500
2200 (ZELN SE3H) 13,262,500 9,062,000 4,200,500
et NI 12,097,500 8,262,000 3,835,500
308 AtAIEHMSOIE 1,443,000 125,000 1,318,000
01 HAHHBSEXS 1,443,000 125,000 1,318,000
OtHer2Z AHHIA ME HA
85,000,000 * 14! 85,000
Oougset 2st0ted &4
1,358,000,000 1,358,000
403 MR HHMSAHE01H 10,654,500 8,137,000 2,517,500
01 MHXIHHA 22 10,654,500 8,137,000 2,517,500
O MEat AEHOIE ZEAS
4,309,500,000& 4,309,500
022 0222 W22 Ji=A
2,077,000,000 2,077,000
ONER AMBZX EHEAI
2,268,000,000 2,268,000
OZZ4 d2U(AEHHT) 22A
2,000,000,000 2,000,000
MEf =22 2O 1,165,000 800,000 365,000
403 AXIEHHSA=201H 1,165,000 800,000 365,000
01 AR A =2 £ 1,165,000 800,000 365,000
O+ dHsk & 882 &4
1,165,000,000& 1,165,000
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A ADESYL
33 IFE sits e 5
CHol. DEUTALY(DHLN S5 (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AMtEESH 7,676,000 6,426,000 1,250,000
NSE stk Mab|gt 2= 7,676,000 6,426,000 1,250,000
DELTANS (ZELE SE3H) 7,676,000 6,426,000 1,250,000
=t ANESY SEHA 24 275,000 1,600,000 1,325,000
403 AXIEHHSAH=Z01d 275,000 1,600,000 /1,325,000
01 MHXIHHA 22X 275,000 1,600,000 A1,325,000
O=¢t AUIE=sY SEEHI =4
275,000,000 275,000
A0EE 3344 NJHEH &4 3,900,000 2,350,000 1,550,000
403 X SHHMSAH=01H 3,900,000 2,350,000 1,550,000
01 XIS A =2 & 3,900,000 2,350,000 1,550,000
OADIEE S22 (Complex) NBHEH £
3,900,000,000& 3,900,000
OlarEAf IS SIS BMENER &Y 3,501,000 2,476,000 1,025,000
403 AXIEHMSA=Z01d 3,501,000 2,476,000 1,025,000
01 MXIHHA 22X 3,501,000 2,476,000 1,025,000
OollatEtMIer MStFMERE X Xd
3,501,000,000& 3,501,000
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SN SAZRSD
M HdE SSHAH A5
Ciel: 2ATC M3 NY(DELN SE3() (crop:mel)
2 - IE!
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
SAERSH 1,600,000 500,000 1,100,000
HE RSHAH 2= 1,600,000 500,000 1,100,000
SAZC 245 X2(DELA SE3IH) 1,600,000 500,000 1,100,000
SHEE =ZHMHHM 2= 1,600,000 500,000 1,100,000
403 XIS MSAHE01A 1,600,000 500,000 1,100,000
01 X SHHAZE X 1,600,000 500,000 1,100,000
OZZEE ==tFMAN 2=X&
1,600,000,000 & * 14! 1,600,000
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(ehol:®el)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
SEMAE3t 4,846,500 8,193,000 A3,346,500
SEMEEZA J|BESE 4,846,500 8,193,000 A3,346,500
SEME 2 U™ SYIIH) 4,846,500 8,193,000 3,346,500
INbrad= 4,846,500 8,193,000 A3,346,500
403 REXISHHIS K201 & 4,846,500 8,193,000 A3,346,500
01 AXISHHA2E X 4,846,500 8,193,000 A3,346,500
NEitE A
1,450,000,000& 1,450,000
D=9l EUE 25 TN
150,000, 000& 150,000
SSH SRl ALY
2,231,500,000& 2,231,500
S =018 &A-
1,015,000,000& 1,015,000

_16_



Al & 0Ol & AFSE Z Ml A
20258 =0iah Y™ SEeH M 2025-01-03 13:50:47
FA oY
M gieEAl JlY 2
TP UL NS (FHUE =357 (o) &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o2& 2 1t 6,363,000 6,991,500 628,500
= 2,801,000
== 3,562,000
H=a Jlgt 7= 6,363,000 6,991,500 628,500
[ 2,801,000
= 3,562,000
S22 IHAIE N2 (ZELH SE3IH) 2,061,500 2,688,500 £627,000
Sre|ZLIOH ot 2Dt o 2,061,500 2,688,500 627,000
403 TR SHMSAH=01H 2,061,500 2,688,500 627,000
01 AXISHHA=2EE 2,061,500 2,688,500 627,000
Ot ZELIOF o el M 24ZD18t =4
2,061,500,000& 2,061,500
ey EE(oELd SEI) 4,301,500 4,303,000 21,500
[ 2,801,000
== 1,500,500
oeMelDl M=Z3t At 4,301,500 4,303,000 1,500
[ 2,801,000
= 1,500,500
308 AFAIEHMSOIE 4,301,500 4,303,000 1,500
= 2,801,000
= 1,500,500
01 AXEH B2 LS 4,261,500 4,263,000 1,500
Ol &2 e0] M= 2tAt
4,201,500,000& 4,201,500
= 2,801,000
< 1,400,500
OXlgaigetF usdE gt X
60,000,000 60,000
13 SI[2S0He 4 A AS A 40,000 40,000 0
OXgafieetdsHE 29
40,000,000 40,000
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A o2t
M ootz A BAS
ol CAXIS BA3 N (DEUE SH3H) (12l M2
= - L=
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
o2&t ekt 1,525,000 575,000 950,000
Ot A 435t 1,525,000 575,000 950,000
CSAXY 435 X2 (Dged S83H) 1,525,000 575,000 950,000
TME =SX2SEEH AHEAIS 1,525,000 575,000 950,000
403 XIS MSAHE01A 1,525,000 575,000 950,000
01 XEXIEHI A= 2 2 1,525,000 575,000 950,000
OEANE SX 2t A AL
1,525,000,000& 1,525,000
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